Session Name: 03 - Pointers 1-31-2023 11-55 AM

Date Created: 1/31/23,11:41:36 AM Active Participants: 57 of 62
Average Score: 12.28% Questions: 5
Results by Question

1. Please do Question 1 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count
OXFF (c¢) 20.75% 11
0XE3CO017FF 15.09% 8
FF(c) 7.55% 4
7 3.77% 2
A 3.77% 2
0X 1.89% 1
0X -> SOMETHING 1.89% 1
0X00007F9CEC401798 1.89% 1
0X0001 1.89% 1
0X0009 1.89% 1
0X0161X1 1.89% 1
0XOFFEEE9A 1.89% 1
0X1 1.89% 1
0X10 1.89% 1
0X17 1.89% 1
0X5 1.89% 1
0X98 1.89% 1
0XA6 1.89% 1
0XBO 1.89% 1
0XE3C1017FF 1.89% 1
0XES8 1.89% 1
0XEA 1.89% 1
0XEC 1.89% 1
0XEC3017FF 1.89% 1




0XEC40 1.89% 1

1798 1.89% 1

17E8 1.89% 1

32 BYTES 1.89% 1

4 1.89% 1

8 1.89% 1

OXFF 1.89% 1
Keyword(s): Oxff;ff
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2. Please do Question 2 which is displayed on the screen in class. (Short Answer)

Responses
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Keyword(s): 0x17;17
Totals Keyword Matches: 16
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3. Please do Question 3 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count
0XEO (¢ ) 7.14% 3
0X12 4.76% 2
0XCOo 4.76% 2
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4. Please do Question 4 which is displayed on the screen in class. (Short Answer)
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K4 2.5% 1
N 2.5% 1
0X081 2.5% 1
THE ADDRESS OF 2.5% 1
K[4] Keyword(s): Oxec4017e8;ex4017e8
Keyword 0
Totals Matches:

0X00001705 +16

THE ADDRESS OF K[4] 5y 0000
0X _OX00C001705 e OX17EO

oxns OX17907 oxooco1715
79CE ¢
0x4017 _Oxos1 OX0QO oxosu: ©

0X00C1715
0X27172838
17A8 GIBBERISH

0X00007F9CEC4017E8

5. Please do Question 5 which is displayed on the screen in class. (Short Answer)
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X3 2.78% 1 |Keyword(s): 0xec4017c8;ex4017c8
Keyword 0
Totals Matches:
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